
(a)

Ewl = 0.04 MPaEwl = 0.04 MPa
t = 15 mmt = 15 mm
fc = 0.58fc = 0.58

(b)

January 9January 9

c(c)

Ewl = 0.1 MPaEwl = 0.1 MPa
t = 15 mmt = 15 mm
fc = 0.21fc = 0.21

d(d)

January 11January 11

(e)

Ewl = 2.0 MPaEwl = 2.0 MPa
t = 15 mmt = 15 mm
fc = 1.0fc = 1.0

January 15January 15

(g)

Ewl = 2.0 MPaEwl = 2.0 MPa
t = 12 mmt = 12 mm
fc = 1.0fc = 1.0
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(i)

Ewl = 0.8 MPaEwl = 0.8 MPa
t = 15 mmt = 15 mm
fc = 0.35fc = 0.35

(j)

January 30January 30

k(k)

Ewl = 0.7 MPaEwl = 0.7 MPa
t = 10 mmt = 10 mm
fc = 0.25fc = 0.25

crack length a (m) Ð→
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March 13March 13
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